

JOKI-UQWU PINCOMA TINDUK  
 ISIGENO OZIOSA  
 COMINICEK SHONHEKINA.

$$e) \frac{dy}{dx} = 2 \sinh x - y \cosh x$$

$$\frac{dy}{dx} + y \cosh x = 2 \sinh x$$

$$P = \cosh x$$

$$Q = 2 \sinh x$$

$$\int P dx = \int \cosh x = \sinh x + C$$

$$\cosh x = u$$

$$\int \frac{\sinh x}{u} \cdot dx$$

$$u = \cosh x$$

$$\frac{du}{dx} = \sinh x$$

$$dx = \frac{du}{\sinh x}$$

$$\int \frac{\sinh x}{u} \cdot \frac{du}{\sinh x}$$

$$= \int \frac{1}{u} \cdot du$$

$$= \ln u$$

$$= \ln \cosh x$$

$$= \int P \cdot dx$$

$$= e^{\int P \cdot dx}$$

$$= e^{\ln \cosh x}$$

$$= \cosh x$$

$$y \cdot IF = \int Q \cdot IF \cdot dx$$

$$y \cdot \cosh x = \int 2 \sinh x \cdot \cosh x \cdot dx$$

$$2 \sinh x \cosh x = \sinh(2x)$$

$$y \cdot \cosh x = \int \sinh(2x) \cdot dx$$

$$y \cdot \cosh x = \frac{1}{2} \times \cosh(2x) + C$$

$$y \cdot \cosh x = \cosh(2x) + C$$

$$y = \frac{\cosh(2x) + C}{\cosh x}$$

IF =  $e^{2x}$   
 $\frac{d}{dx} e^{2x} = 2e^{2x}$   
 $\frac{d}{dx} e^{3x} = 3e^{3x}$   
 $\frac{d}{dx} e^{5x} = 5e^{5x}$   
 $\frac{d}{dx} e^{7x} = 7e^{7x}$

$y = \frac{1}{5} e^{5x} + C$

$\frac{dy}{dx} = x^2 + 2x - 3$   
 $\int \frac{dy}{dx} = \int x^2 + 2x - 3 dx$   
 $y = \frac{x^3}{3} + 2x^2 - 3x + C$

$\frac{dy}{dx} = y^3$   
 $\frac{dy}{dx} y^{-3} + y^{-2} = 1 \dots (i)$   
 $z = y^{-2}$   
 $\frac{dz}{dy} = -2y^{-3} \frac{dy}{dx} \dots (ii)$

Multiply eqn by (i-ii)  
 $-2y^{-3} \frac{dy}{dx} - 2y^{-3} \frac{dy}{dx} = -2$   
 $\frac{dz}{dy} = -2y^{-3} \frac{dy}{dx}$

Sub eqn (i) into (ii)  
 $\frac{dz}{dy} - 2z = -2$

$\therefore P = -2/y, Q = -2$   
 $\int P \cdot dx = -2 \ln x$

1.  $C = \sin x$

$$2. \int \sin x \, dx = -\cos x + C$$

$$3. \int \cos x \, dx = \sin x + C$$

$$4. \int \frac{1}{x^2} \, dx = -\frac{1}{x} + C$$

$$5. \int \frac{1}{x} \, dx = \ln|x| + C$$

$$6. \int \frac{1}{x^2 + a^2} \, dx = \frac{1}{a} \arctan\left(\frac{x}{a}\right) + C$$

$$7. \int \frac{1}{x^2 - a^2} \, dx = \frac{1}{2a} \ln\left|\frac{x-a}{x+a}\right| + C$$

$$8. \int \frac{1}{x^2 + 2ax + a^2} \, dx = \frac{1}{x+a} + C$$

$$9. \int \frac{1}{x^2 - 2ax + a^2} \, dx = \frac{1}{x-a} + C$$

$$10. \int \frac{1}{x^2 + 1} \, dx = \arctan x + C$$

$$11. \int \frac{1}{x^2 - 1} \, dx = \frac{1}{2} \ln\left|\frac{x-1}{x+1}\right| + C$$

$$12. \int \frac{1}{x^2 + 2ax + a^2 + b^2} \, dx = \frac{1}{b} \arctan\left(\frac{x+a}{b}\right) + C$$

$$13. \int \frac{1}{x^2 - 2ax + a^2 - b^2} \, dx = \frac{1}{2b} \ln\left|\frac{x-a-b}{x-a+b}\right| + C$$

$$14. \int \frac{1}{x^2 + 2ax + a^2 - b^2} \, dx = \frac{1}{2b} \ln\left|\frac{x+a+b}{x+a-b}\right| + C$$

$$15. \int \frac{1}{x^2 + 1} \, dx = \arctan x + C$$

$$16. \int \frac{1}{x^2 - 1} \, dx = \frac{1}{2} \ln\left|\frac{x-1}{x+1}\right| + C$$

$$17. \int \frac{1}{x^2 + 2ax + a^2 + b^2} \, dx = \frac{1}{b} \arctan\left(\frac{x+a}{b}\right) + C$$

$$18. \int \frac{1}{x^2 - 2ax + a^2 - b^2} \, dx = \frac{1}{2b} \ln\left|\frac{x-a-b}{x-a+b}\right| + C$$

$$19. \int \frac{1}{x^2 + 2ax + a^2 - b^2} \, dx = \frac{1}{2b} \ln\left|\frac{x+a+b}{x+a-b}\right| + C$$

$$20. \int \frac{1}{x^2 + 1} \, dx = \arctan x + C$$

$$21. \int \frac{1}{x^2 - 1} \, dx = \frac{1}{2} \ln\left|\frac{x-1}{x+1}\right| + C$$

$$22. \int \frac{1}{x^2 + 2ax + a^2 + b^2} \, dx = \frac{1}{b} \arctan\left(\frac{x+a}{b}\right) + C$$

$$23. \int \frac{1}{x^2 - 2ax + a^2 - b^2} \, dx = \frac{1}{2b} \ln\left|\frac{x-a-b}{x-a+b}\right| + C$$

$$24. \int \frac{1}{x^2 + 2ax + a^2 - b^2} \, dx = \frac{1}{2b} \ln\left|\frac{x+a+b}{x+a-b}\right| + C$$

$$\frac{dx}{dy} = \frac{1}{\frac{dy}{dx}}$$

$$\frac{dx}{dy} = \frac{1}{\frac{dy}{dx}}$$

$$\frac{dx}{dy} = \frac{1}{\frac{dy}{dx}}$$

$$1 + v^2 = A(v-1)(v+1) + B(v)(v+1) + C(v)(v-1)$$

$$1 + v^2 = Bv^2 + Cv + A - Av + Bv^2 + Cv + Bv + C - Cv + Cv - Cv$$

$$1 + v^2 = (2B)v^2 + (2C)v + (A - B)$$

$$1 + v^2 = 2Bv^2 + 2Cv + (A - B)$$

$$1 = -1A ; A = -1$$

$$\int \left( \frac{-1}{v-1} + \frac{1}{v+1} + \frac{1}{v} \right) dx = \int \frac{1}{v} \cdot dx$$

$$- \ln|v-1| + \ln|v+1| + \ln|v| = \ln|v|$$

$$\ln|v-1| + \ln|v+1| - \ln|v| = \ln|v|$$

$$\frac{v^2-1}{v} = \ln|v|$$

$$v = \sqrt{y} ; (y/2)^2 - 1 = A \ln \frac{y}{2}$$

$$\frac{y^2}{2} - 1 = A \ln \frac{y}{2}$$

$$\frac{y^2}{2} - 1 = Ay$$

$$\frac{y^2 - 2}{2} = Ay$$

$$y^2 - 2 = 2Ay$$

$$y^2 = 2Ay + 2$$

$$y^2 = 2A(y+1)$$